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PART - A

Directions : Each item in this section consists of a sentence with an underlined word
followed by four words or group of words. Select the option that is opposite in meaning
to the underlined word and mark your response on the answer sheet accordingly.

. All human beings are fallible

(c) painstakingly

() frail (d) scrupulously
(b) erring . o
. These risks are incidental to the work
(c) mortal of a firefighter
(d) perfect (a) essential

. His words were vague

(a) identical
(b) obscurc
(c) precise
(d) imperceptible

. She performed all
conscientiously

(a) assiduously

(b) carelessly

her

duties

(b) adventitious
(c) serendipitous

(d) subsidiary

. She has always been disdainful of poor

people

(a) reverential
(b) derisive
(c) supercilious

(d) insolent

Directions : In this section, there is a passage that has some blank spaces, each with
four words or group of words. Select whichever word or group of words you consider the
most appropriate for the blank spacec and indicate your response on the Answer Sheet

accordingly.

Most of our food comes from agriculture, so we tend to believe that it is

6. (a) independent

of natural biota. This is not true. In nature, '

(b) dependent
(c) relevant
~(d) consequent
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7. (a)the  plants and animals 8. (a) had been continuously subjected

(b) both (b) will be continuously subject
(c) some (c) continuously subjected
(d) among (d) are continuously subjected
to the rigours of natural selection. Only the fittest survive. 9. (a) Consequently
: (b) Inadvertently
(c) Although
(d) Since

wild populations have numerous traits for competitiveness, resistance to parasites,

10. (a) withdrawal to adverse conditions, 11. (a) and
(b) tolerance : (b) with
(c) adaptable (c) by
(d) compliance » ; (d) upon
other aspects of vigour. In contrast, populations grown formany __ 12. (a) eras
(b) epochs
(c) periods

(d) generations

under the pampered conditions of agriculture tend to lose these traits, because they

13. (a) had selected for production, not resilience. For example, a
(b) have selected '
(c) are selected
(d) might select

high-producing plant 14. (a) whichever lacks resistance to drought is
. (b) whom
(c) that
(d) whenever

15. (a) heated and the resistance to drought is ignored. Also, in the
(b) irrigated
(c) showered
(d) deserted

process of breeding plants for maximum production, all genetic variation is eliminated.
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16.

17.

18.

19.

20.

Directions : Each of the following items features one part of a sentence followed by four
alternatives. Complete the sentence by choosing the correct alternative.

Preeti suggests
(a) that I ask to your advice

-(b) that I had asked your advice

(c) that I can have asked your advice
(d) that I ask your advice '

We saw

(a) the older of all monuments in the
city

(b) the old of all monuments in the
city

(c) the oldest monument in the city

(d) - an oldest of all monuments in the
city

Since you have been touring all day

(a) you must be tired

(b) you ought to have been tired

(c) you could had been tired

(d) you might not be tired

His condition is serious, but
(a) it should be worse

(b) it ought to be worse
(c) it could be worse

(d) it had been going to be worse

I hope the bus comes soon because
(a) we waited for half an hour

(b) we have been waiting for half an
hour

(c) we waiting for half an hour

(d) we could have been waiting for
half an hour

SURN-A-GAT - A

21.

22.

23.

24.

25.

Someone :

(a) has spilt juice on the sofa

(b) should have spilt juice on the sofa
(c) have spilt juice on the sofa

(d) ‘would spilt juice on the sofa

What would you do
(a) if you found your lost toy ?

(b) if you will have found ybur lost
toy ?

(c) if you would found your lost toy ?

(d) if you have find your lost toy ?

If I were you

(a) I shouldn’t buy that dress
(b) I wouldn’t buy that dress
(c) I weren’t buying that dress
(d) I mustn’t buying that dress

I wish

(a) I could help you

(b) I ought to help you
(c) I did help you

(d) I must help you

The efforts of the security services have
not been quite

(a) upto the incredibility
(b) up-take

(c) up-tight

(d) upto the mark



- Directions : Given below are some idioms./phrases followed by four alternative
meanings to each. Select the response (a), (b), (c) or (d), which is the most appropriate
meaning and mark your response on the Answer Sheet accordingly.

26.

27.

28.

31.

A white lie

(a) An offensive way of describing
something

(b) To do something completely
impossible

(c) A lie that is absolutely and
universally true

(d) A lie that you tell to avoid hurting
someone

Bad blood
(a) Feelings of hatred between people

(b) A situation which goes from bad
to worse ,

(c) A fatal accident
(d) To accept the unpleasant situation

Count your blessings

(a) to start to understand how badly
something has affected you

(b) an event which gradually becomes
worse

29.

30.

(c) to be grateful for good things in
your life

(d) something that you say in order to
warn someone

Have the last laugh

(a) to be the worst example of some-
thing

(b) to succeed when others thought
that you would not

(c) to solve all the problems of life

(d) to laugh at someone secretly

Sit on the fence

(a) to make someone suddenly notice
you ;

(b) to fail completely
(c) to delay making a decision

~(d) to behave very 'badly

Directions : Each of the following items in this section consists of a sentence, the parts
of which have been jumbled. These parts have been labelled P, Q, R and S. Given below
each sentence have four sequences, namely (a), (b), (c) and (d). You are required to
rearrange the jumbled parts of the sentences and mark your response accordingly.

-good quality elementary education conforming as a fundamental right of all children

P
the Right to Education Act (RTE) mandates
R
to the standards and norms specified in the Act
S
(a QSPR
() RPSQ
{c) RSP
d SQPR

Q
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3. the conflicts and disputes in their mind music not only relieves the burden
P Q
on children and the young but also alleviates
R ‘ S

(@ QRSP

) PSRQ

(c) QPR S

(d PQRS

33, butitis virtually covered by a dome-shaped ~ Antarctica is a continent
P Q
nearly twice as large as Australia ice sheet nearly 2 miles thick
R S

(a QRPS
() SPRQ
() QSPR
(d SQRP

34. the global economic weight from the advanced economies
2

that there was a major shiftin and Central Bank Governors, in recognition of the fact
Q R '
the G20 was formed in 1999, as a forum of Finance Ministers
S

(@ SPQR
(b) PQRS
() QRSP
d SRQP

35, aquaculture nation in the world and  India’s products are exported to many nations

P Q
fish producing and the second largest India is the third largest
R S
(a SRPQ
(b)) QPRS
(© RPQS
(d PQRS
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36.

37.

Directions : Edch of the following sentences has word(s) underlined. Read the sentence
carefully and find which word class the underlined word(s) belong(s) to. Indicate your
response on the Answer Sheet accordingly.

Adders are the only poisonous snakes 38. I don’t really want to go. Besides, it’s
found across Britain too late now
(a) Adjective
0 T (b) Adverb
(b) Adjective (c) Preposition
(d) Conjunction
(c) Adverb h

39. Look at that man over there
(a) Adverb
(b) Conjunction
(c) Determiner
(d) Article

(d) Determiner

She spoke to him once since he has
been in town

(a) Adjective :
40. The plane is ready for take-off

(b) Adverb (a) Nowin

N
(c) Conjunction 23 ‘V::léunc ion
(d) Preposition @ Gerand

Directions : In this section, you have a short passage. After the passage, you will find
some items based on the passage. Read the passage carefully and answer the items based
on it. You are required to select your answers based on the contents of the passage and
the opinion of author only.

We live in a time when globalisation is rapidly encompassing travel, information, trade
and investment. The internet ties people together in ways unimagined a few years ago.
The globalisation of health, however, remains an elusive goal, similar to the globalisation
of economic well-being. Laurie Garrett, in The Coming Plague, describes an unwelcome
form of globalisation: the globalisation of disease. Garrett examines the recent history of
emerging diseases such as AIDS, Ebola, Hantavirus, Rift Valley Fever, Legionnaires’
disease, and others. She also explains the resurgence of familiar diseases like tuberculosis,
cholera, and pneumonia as a consequence of the widespread and unwise use of
antibiotics. Many of the new diseases are clearly linked to changes in land use, which -
brings humans into close contacts with rodents or other animals that harbour viruses
previously unknown to medicine and often deadly to humans. Resurgent diseases, by
contrast, are a creation of our medical practice. By treating people with antibiotics without

7 - A — SURN-A-GAT



41.

42.

43.

restraint, we unknowingly select strains that are immune to the antibiotics and that pass
on their resistant genes to unrelated bacteria by way of plasmid transfer. The heroes of her
book are the women and men on the frontlines of epidemiology. Garrett makes a plea for
a greater commitment from our universities, medical schools, and government agencies
to train workers who will be capable of recognizing new diseases and who will be able
to move about equally well in the laboratory, the hospital and the field in pursuit of
knowledge and public-health intervention around the world.

What according to the passage is the
‘unwelcome form of the globaliza-
tion’ ?

1. Globalization of the diseases
2. Elusive goal of globalization
3. Hi’sfory of fatal diseases

4. Selective use of antibiotics

Select the correct answer using the
code given below :

(@) 1 only

(b) 2,3 and 4

(c) 3 only

(d 1 and 4

Accordiﬁg to the passage, globalisation
of health has become imperative due to
(a) the globalisation of diseases

(b) public health intervention

(c) the creation of new medical
systems

(d) the indiscriminate use of anti-

biotics
According to the passage, resurgent
diseases are affected by :
1. Medical practices
2. Overuse of antibiotics

3. Emergence of new strains

SURN-A-GAT - A

44.

45.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only -

(c) 1 and 3 only

(d 1,2 and3

According to the passage, many new

diseases are emerging due to change in
land use because

(a) humans are coming in contact
with unfamiliar viruses

(b) urbanisation makes
proliferate

pathogens

(c) humans become adaptive and pass
~ on their genes to related bacteria
by way of plasmid transfer

(d) humans are inadve'nently releasing

Nnew viruses

What is the meaning of the word
“epidemiology” in the passage ?

(a) The historical study of the spread
of diseases

(b) The scientific study of the spread
and control of diseases ;

(c) The scientific study of the inven-
tion and uses of drugs

(d) The scientific study of the uses of
drugs



46.

47.

48.

Directions : Each item in this section consists of a sentence with an underlined word
followed by four words. Select the option that is nearest in meaning to the underlined
word and mark your response on the Answer Sheet accordingly.

Sages and seers have cautioned that the
path towards enlightenment is full of
illusory traps

(a) reasoned
(b) admitted
(c) wamed

(d) refused

The officer reported the details of the
mission in a monotonous manner

(a) dull
(b) happy
(c) disturbed

(d) enthusiastic

There are many elusive questions in
philosophy

(a) clear

(b) baffling

49.

50.

(c) paramount

(d) truthful

Cleaning this mess is a mammoth task

(a) huge

(b) ; quick

(c) easy

(d) intelligent

The police department’s image was
tarnished after the high-profile murder
case

(a) enhanced

(b) tainted

(c) restored

(d) assigned
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'51.

52.

33.

AT -B
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R §
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(a) st et (USRS
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(b) Siagelt wfererr R e
(wrseTenifegan)

(c) TIHRTEHT 3R Fash

(d) saEE  (ArEEE) R e
JYEHT

framforfaa & @ <9-a1 oas 9 afem

T SeA # g™ &Rl § ?

(@) w0 (&)

(b) &g (fermie)

(c) 3raaelt (TREMeR) Fdsh

(@) SuIfer (FfEam)
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54.

35.

56.

57,

Frafafea & 4 ==-ar, FifdeEt |
I AT ?

(a) ADP
(b) ATP
(c) AMP
(d) NAD

Freafafea & & forad st (Eye Buds)
& TTes § s wadq BT § 7

(a) ST

(b) T

() @~

(d) =T

 fafi weR & verat & ol o wa:
st Frsror | hgear @ ?

(a) IXE"

(b) ST AR

(©) feramm

(d) =TSR
T R

fow feafafes & & fFa gawo
Teheleh &1 S9N foram SITaT @ 2

(2) T (feegem)

(b) FuAEA (HIACHTHT)
(c) ST (FEFLINA)
(d) fereeem
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S2.

53.

PART - B

Which one of the fdllowing statements
about lysosomes is NOT correct ?

(a) They are waste disposal system of
the cell

(b) They breakdown all inorganic
materials

(c) These are also referred to as
“suicidal bags”

(d) Lysosomes stop entry of foreign
materials '

Which of the following two cell
organelles have their own genetic
material ?

(a) Endoplasmic reticulum and plas-
tids

(b) Endoplasmic reticulum and mito-
chondria

(c) Mitochondria and plastids

(d) Lysosomes and Golgi apparatus

Which one among the following
tissues help to connect two bones ?

(a) Tendons

(b) Ligaments
(c) Areolar tissue
(d) Cartilage

11

54.

35,

56.

.

Which one among the following is the
source of energy in cells ?

(a) ADP
(b) ATP
(c) AMP
(d) NAD
In which one among the following

the vegetative propagation takes place
through Eye Buds ?

(a) Potato

(b) Ginger

(c) Onion

(d) Sugarcane

The intermixing of particles of two

different types of matter on their own
is called

(a) Osmosis

(b) Brownian motion

(c) Diffusion

(d) Conductance

Which one among the following

separation techniques is used for blood
tests in diagnostic laboratories ?

(a) Filtration
(b) Chromatography
(c) Centrifugation

(d) Crystallization
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58.

59.

60.

61.

62.

Frafafea # @ lv-w1 9@ sgRaE
x

(a) HITHIE

(b) HE

(©) FARA

(@) Tt
freafafaa # e womm & wasteRar
387

(a) wTzgTSE

(b) ATEE

(c) G<HhIsE

(d) "he

N, ¥ F 0-5 AH-3A] (FA) HT =AW
TR ?

(@ 7¢g

(b) 14 g

() 21g

(d 28g

Tty srfsfsean

2AgCl (s) > 2Ag (s) + Cl, (g)

Hfeq 2t &

(a) SR H

(b) T & e H

() ™ FA W

(d) SHTEH
frrafafea # & fraer ST wmFa:

Ye # ‘ufy-cawm we (wd-fesfm
wie) & &9 # fFar s § ?
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63.

64.

(a) F=fes
(b) TH-AfE fiRiefem
(c) T
(d) wieiiersgil HAer

50Q 3R 70Q & T wieRgs @t
it # A forar sirar @ 3R =@
TSE & 360Q & Th AfRigs: &
g qi5d A fear sar g1 dF
wRRiust & T & g gk @
27

(a) 240 Q

(b) 12:0 Q

(c) 90Q

@ 60Q

fa § g (IYeiE) gomm & QA
g ¥ C, R C,qfg g § s
T p; IR p, TA H @ ¥
(errfEm &= grr wefdfa) sufie &
A M E, 3R oA (A py) FRE
€ 1 pp, pp R pyy S 19 T ®

@ p<pw<p
®) pr<p1<pw
© pP1<pP<pPw

(@) pr<pw<p:



58.

Which one among the following
elements is polyatomic ?

(a) Phosphorus

59.

60.

61.

62.

(b) Sulphur

(c) Chlorine

(d) Aluminium

Which of the following anions has a
valency of -3 ?

(a) Nitride

(b) Nitrate

(c) Sulphide

(d) Sulphate

The mass of 0-5 mole of N, gas is
(@ 7¢g

(b) 14¢

© 21g

(d) 28

The chemical reaction :

2AgCl (s) > 2Ag (s) + Cl, (g)
takes place

(a) in dark

(b) in sunlight

(c) on heating

(d) under high pressure

Which one among the following is

commonly used as an ‘anti-skinning
agent’ in paints ?

13

63.

(a) Gelatin
(b) N-methyl pyrrolidone
(c) Pyridine

(d) Polyhydroxy phenol

Two resistances of 5-0 Q and 7-0 Q
are connected in series and the combi-
nation is connected in parallel with a
resistance of 36-0 Q. The equivalent
resistance of the combination of three
resistors is

(a) 240 Q
(b) 12:0 Q
© 90Q
@ 60Q

Shown in the figure are two hollow
cubes C; and C, of negligible mass
partially filled (depicted by darkened
area) with liquids of densities p; and
Py, respectively, floating in water
(density py). The relationship between

P1> P2 and pyis

@ pp<pw<p
®) p<pi<pw
© pr<p2<pw
@ p1<pw<p
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65.

66.

An astronaut whose weight on the
Earth is 600 N experiences weightless-
ness on International Space Station
orbiting around the Earth. It means
that

(a) acceleration of the astronaut is
zero

(b) normal reaction of the space-
station floor on the astronaut is
Zero

(c) gravitational pull of earth on the
astronaut is zero

(d) space station applies a centrifugal
force on the astronaut

Which of the following statements give
characteristics of contact forces ?

1. It appears between an object when
it is in contact with some other
object

2. It satisfies the third law of motion

3. It may appear between a pair of
solid and fluid

Select the answer using the code given
below :

(a) 1 and 3 only
(b) 2 and 3 only
(c) 1 and 2 only

() 1,2 and 3

67.

68.

\k(c) The

Which one among the . following
figures correctly represents the ray
diagram ? (Consider the lens to be

thin)

2 aiwe
NJ/f

by 72

() ~o= a
e R

i
=

@F =ae i ¢

Lightning is due to

(@) The flow of charges between
different parts of the cloud

(b) The short-circuiting of charges
between the upper and lower
surfaces of the cloud

collection of positively
charged particles on the base and
collection of negatively charged
particles at the top of the cloud

(d) The induction of positive charge
on the ground below the negative
charge at the base of the cloud
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I o
Il 50
(a) (@ dg”t
g BT
{t i
g of
(b) () & =

_.®_®__ 0. % 18 1 N8
THY (s)

Iy ! 1
|I sob
E
(C) o o}
© |
10F
® P S0 AT
THA (s)

(L ‘!

£ of

- @ . @ & ”
® 10

® 0.8 101850028

THY (s)
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69. In which one among the following
situations, the bulb (X) would glow the
most ? (Consider all batteries are the

same)

(@)

®)

©

(d)

¥

70. Which one among the following
diagrams may correctly represent the
motion of a skydiver during a jump ?

(@)

(b)

©

Speed (m/s)

88888

>

Speed (v/s)

B, @8 8.8

s 10 15 20 25
Time (s)

2 1 -

>

Speed (m/s)

8 8 & 8 8

Cie s 2025 -
Time (s)

>

>

Speed (m/s)

& 8 3

5 10 15 20 25
Time (s)

STH0C 15 .20 5285

Time (s)
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71. frafafea # @ 9=-ar it (E9),
s fgdia ooft & Sies (SieR) @

HIH U oAl © ?
@ ’TR%
e
®) v | A }
e
G '
oSBT L
t s
© i
AT

72. 5 few g ww fomm wftew & fo,

Jreedr (V) 3R &R (/) T 981 99 §
0 3A
®
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74.

24

(a)
(b)
(©)
(d)
yHE ARa & frfafea aeemgt @
[, foradh Toam qafyer ot ?

(a) F®

(b) aft

(c) MYUR

(d) 3radt
frafafea & & @9, 78 9g w@E &9

¥ w9y ¥ Ugd WRA & 3ifaw TE-
SR 3

(a) wE AEeaeA

(b) shadl TSWIATATIR!
(c) wTE Jad

(@ e fomfaam

V=900V;/=18A
V=300V, I'=55 A
V=600V;I=1A
V=300V, I=2A

AR H 1950 & TUH H AT IERT H
e oA /% e Toeafofea & @
FHH-91/FH-8 B /8 ?

1. SareA # gfg & dRk |l @
AR & fo saer wem

2. 3 & |t v o freior awan
= feu T e 1 WA AR W g
(a) ¥aa 1 '
(b) Fad 2
(c) 13K 238t
(d A L,TE2



71. Which one of the following sketches (@ V=900V;I=18 A
correctly describes a lever of second ) V=300 V:I=55A
class ? :

(c) ¥=600V;I=1A

d V=300V;I=2A

effon‘ ;
(a) load 73

. Taxila was the capital of which one
among the following Mahajanapadas
of ancient India ? ‘

(a) Kuru
; (b) Kasi
(b) cﬁ'ort‘ A ‘load (c) Gandhar

fulcrum
(d) Avanti

74. Who among the following was the last
' L Governor-General of India before the
e office was permanently abolished ?

© A ““d (a) Lord Mountbatten
(b) Chakravarti Rajagopalachari
(¢) Lord Wavell
(d) Lord Linlithgow
$

(d) ‘ - 75. Which among the following is/are the
‘b“d objective(s) of setting up of Planning

o Commission in the 1950s in India ?

1. To increase production - and
offering opportunities to all for

72. For an electric circuit given below, the employment
correct combination of voltage (V) and

; 2. To make assessment of all
current (/) is

resources of the country

Select the answer using the code given

moﬂ e below :
o

1000 (a)- 1 only
> AN > (b) 2 only
\ i / (© Both 1 and 2
AW .
300Q (d) Neither 1 nor 2
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76. ¥R # Yuasig ASERN 6 ey A
frrafafea & @ sF-w1/99-8 w99
e 8/% ? -

1. Jeelt 3R il quasiq qerret §
F At I=9 wrafwar € T

2. Ed AT WE-SR Aigd W
smanfea ot

3. WIEl Ao & g -fog @, s
3R ITGEHAT AT

4, Ftdl gueNig AeET # wEefee

& § fowrer wem & oy | 9=
fear mr
= few T e w1 WA W SR g
(a) *ad 1
(b) 13K 3
(c) 33K 4
d 1,2 3K 4

Ugell YuaNid QST % WRH ¥ Ued,
g # ffafaa # @ - g
ARA & TE oAf ?

1. STF AT

2. 5 ArEr (Fged @)

3. wated Aol

4. wEraTG AT
9= fou 1T e & W W SW I
(@) e 13K 2

(b) e 13K 3

(c) e 3 3R 4

@ 1,2,33K 4

77,

SURN-A-GAT - A
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78. 99 ¥ 3fftes auf & forg welt 9 €
i AT FET AT R ?
(a) o T
(b) T Tl
(c) PN awa =g i
(d) =R 3R =

seA 3R AR 9o W & o

% frafafea & A SF-w =99 @@

TER?

(a) VAT AT, SWHCSHT T
Searg §

(b) AT IR IV AE F T AferwRaH
aut Bt ®

() szam ¥R feER o9 @TE «F
10 ot ==t gus o=at & W
150 km =S R

@) Duege # oA wAenkEt @
frama

80. frfafga & & <=-w1 @l wem
ST WFR & Heifta gl ¢ ?
(a) &g
(b) @HE
(©) =t
(@) fregst
81. Fafafea & @ aF-ar swE (a1
A1) -G ® ?
(a) YHEA WER
(b) ST R

9.

(c) & |FR

(d) Ffema arr



76.

T

Which among the following statements
with regard to Five Year Plans in India
is/are correct ?

1. The First and Ninth five year
plans accorded high priority to
agriculture

2. The Third Plan was based on the
Harrod_-Domar Model

3. Seventh Plan focused on food,
work and productivity

4. The Ninth five year plan empha-
sized on massive investments in
public sector

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 3

(c) 3 and 4

(d 1,2 and 4

Before the inception of the First Five

year Plan, which among the following
Plans were initiated in India ?

1. Bombay Plan
2. Peoples Plan
3. Sarvodaya Plan
4. Gandhian Plan

Select the answer using the code given
below :

(@ 1 and 2 only
(b) 1 and 3 only
(¢) 3 and 4 only
(d 1,2,3 and 4

21

78. Any land that is left fallow for more
than five years is termed as

79.

80.

81.

(2)
(b)
(©

(@

Current fallow
Fallow other than current fallow
Cultu_rable waste land

Barren and waste land

Which statement is NOT correct with
reference to Andaman and Nicobar
Islands ?

(2)

)

©

(d)

Climate is humid, tropical coastal
climate

Maximum rainfall occurs between
March and April

Andaman and Nicobar islands are
separated by 10 degree Channel
which is 150 Km wide

Islands are inhabited by Negrito
tribes

Which one among the following local
winds is NOT related to Mediterranean
Sea ?

(@)
(b)
©
(d)

Harmattan

Khamsin

-Sirocco

Mistral

Which one among the following is a
landlocked water body ?

(@)
(b)
(©)
)

Mediterranean Sea
Black Sea
Red Sea

Caspian Sea

A — SURN-A-GAT



82.

83.

84.

85.

e ORT & gy # frafafea § @
FI-6T G FE AT & ?

(2) 9% ST ThieT & gfvwelt qe &
ey Syt aRar #

(b) e ST &rT ?

(c) zaehr feum oo & S AR R

(d) & deeifes wE@ER # warfed
Bt ©

Ffteriy SieEal & faw T ) ™

- (Taered) Bt & S wmar

Fed ¢ | 7 form Aoft it y-sifer
=l frefya a=dt @ 2

(a) 7 (Ielg) Y-3ArFfa

(b) U -3ATHhT

() Femda y-smfy

(d) wRferdm q-smefy

Ayt # faafm D ft & & Frw

e i as-aT T g ?

(a) S

(b) &

() Tehem

(d) =gt

freffes ¥ ¥ a1 i waf

HISH & HeH! H galfh Iugeh &9 #

fref@ axar ¢ 2

(a) Fraterzse, faerfE, wdm, =@,
@i, 3R 5/

(b) wrateEge, faerfim, wdm, T
IR @fis

SURN-A-GAT - A
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86.

87.

88.

89.

(c) waTersee, faerfm, wdm, afm
3R e :

d) faarfm, wém, =@, @,
IR 5

AME SRR & foRe wRr an s # s
(Fféersr) et ard wmeh @ 2

(a) &

(b) sATEAA

(c) waafa

(d) g Efy

AE FHF & FFAY] () A HA-AT
W SoEsk g T & Freiet ¥ R
JAEET § 7

(a) |UTEr Aferant

() 7% firy

(c) T et

(d) s EYe

freafafea & ¥ fore @9 (wzew) &
ST WS Fed © ?

(a) He=ga

(b) wrEfamdis

(c) TR

(d) TETEArSHe

wF fagfem &t Medm saad gdor &
FohdT g T @1 wrar g | feafafaa &
¥ -6, ffifa widfaa 6 wd =&l
By ?

(a) 3T W

(b) FsHAT Sy W

(c) ‘ﬁmﬁgw

(d) Wi fog ok ashar &g & =



82.

83.

84.

8s.

Which one among the following state-
ments with reference to Benguela
current is NOT correct ?

(a)

It influences the climate of the
West coast of North Africa

It is a cold current

(b)
©

Its direction is from South to
North

It flows in the Atlantic Ocean

(d)

The lowest part of most bolsons is
occupied by a landform called playa.
Which category of landform formation
does it represent ?

(a) Fluvial landforms

(b) Arid landforms

(c) Glacial landforms

(d) Periglacial landforms

Which one among the following

diseases is caused due to deficiency of
Vitamin D in humans ?

(a) Beriberi

(b) Scurvy

(c) Rickets

(d) Pneumonia

Which one among the following com-

binations most appropriately represent
the components of balanced diet ?

(a) Carbohydrate, vitamins, proteins,
fat, minerals, fibres and water

(b) Carbohydrate, vitamins, proteins,
fat and minerals

23

86.

87.

88.

89.

(c) Carbohydrate, vitamins, proteins,
minerals and water

(d) Vitamins, proteins, fat, minerals,
fibres and water

In which part or organ of human body
cartilage is NOT found ?

(a) Nose

(b) Trachea

(c) Bronchiole

(d) Knee joint

Which part of nephron of the human

kidney is responsible for filtration of
blood for excretion ?

(a) Collecting duct
(b) Renal vein
(c) Ureter

(d) Bowman’s capsule

Organisms of which of the following
phylum are called sponges ?

(a) Coelenterata
(b) Platyhelminthes
(c) Porifera

(d) Echinodermata

A point object is placed at the centre
of curvature of a spherical concave
mirror. Which one among the fol-
lowing would be the correct location
of image formed ?

(a) At infinity
(b)
(©)
(d)

At the centre of curvature
At the focal point

Between the focal point and the
centre of curvature

A — SURN-A-GAT



90. frregfear (wmifiar) & difsa =afw

91.

92.

& fouq frafafas & @ sF-a1 =

e ?

(a) J% =fth fise A awgel #t e

ST g ®

(b) F% A R 6 FEge @ W 3@
el ¢

(c) Ie =Afh T H 3R el o Tl ©

(d) ¥% =fh 7 @ fiswe H aeget |
#R T & R A gl H we @
T ©

T ared fRm seenm @ Rt ==
T 9 W T AN AT € | T
¢t ¥ ¥ T8 2 m/s? & @O A HorT ©
IR IOF o Wadl 10 qhe A Tg
5 m/s? & RO ¥ FqodT § | 3@ A
TAHE R TEFQ SS0mR | T4
L A TR ?

(@) 10s

(®) 13s

(c) 20s

d) 25s

THFH AR 75N | 0 [ We &
S| A g R], I« faenfa @
ST § | STel &g 1 WK foram o an S|
WA W TR @O 10 m/s? § |
Frafafea # @ @9-1, =g & v =
TR A ® 7

(@ 10 kg/m?

(b) 100 kg/m?

(c) 1000 kg/m?

(d) 10000 kg/m?

SURN-A-GAT - A
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93. T& AW T s s foRpa @ua

94.

9s.

N 20% WY H TIGRT oK 3T §, 3K
A g o % ®T H &7 @ S R |
o & fhermie &t wiekig 200 Q # 3K
T ¥ 2 A 4RI vETfed Bl © | 3 e
10 h % forq a7 gam & ok foga wR
R T5/g0C ®, @ @ SaeT |
o7 fog u g & forg feafofea & @
e ga-ufyr F-d g 2 '
(@ %5

(b) X6

() T7

@ %8

Frafafea & @ SF-u1 97 3o

HheqT I Farad €9 & IR &=ar

e?

() I & TH ® ¥ G T A
YT

(b) AR & FHRI FoAl & gqAE |
gﬁiﬁaﬁua:dnﬁaﬂﬂ

(c) TTITER & HRI oAl T a0l

(d) aHE & ar el werd & staam
T gftadq

< Y& H GAHE 1:7 % G A R |
Ieh ATET & oI AU 2: 18 | ST
TR TF G W ARG 96 & A9
;R ?
Ry 1.7
(b)-7:1
(¢} L.}
(D 2:1



90.

9i.

92.

Which one among the following is
correct for a person suffering from
myopia ?

(a) The person can see near objects
clearly

(b) The person can see distant objects
clearly

(c) The person cannot distinguish
colours

()

The person can neither see near
objects nor distant objects clearly

A vehicle starts moving along a
straight line path from rest. In first ¢
seconds it moves with an acceleration
of 2 m/s? and then in next 10 seconds
it moves with an acceleration of
5 m/s?. The total distance travelled by
the vehicle is 550 m. The value of
time 7 1s

(@) 10s

o) 13 ¢
(c) 20s
(d 25s

A pumpkin weighs 7-5 N. On sub-
merging it completely in water, %L of
water gets displaced. The acceleration
due to gravity at the place where the
pumpkin was weighed is 10 m/s
Which one of the following is the
correct value of the density of the
pumpkin ?

(@ 10 kg/m3
(b) 100 kg/m>
(c) 1000 kg/m>
(d) 10000 kg/m?

25

93;

94.

9s.

An incandescent electric bulb converts
20% of its power consumption into
light, and the remaining power is
dissipated as heat. The bulb’s filament
has a resistance of 200 Q and 2 A
current flows through it. If the bulb
remains ON for 10 h and the rate of
electricity charge is ¥ 5/unit, then
which among the following is the
correct amount for the money spent on
producing light ?

(@) %5

(b) 6
(©) %7
(d) %8

Which one of the following statements
best defines the concept of heat ?

(2)

The transformation of energy from
one form to another

(b)

The conversion of energy into
mass and vice-versa due to
temperature difference

The transfer of energy due to
temperature difference

©

(d)

The change in volume of a
substance with temperature

The masses of two planets are in the
ratio of 1:7. The ratio between their
diameters is 2 : 1. The ratio of forces
which they exert on each other is

(@) Tz7
(b) 711
fo)- 131
(231
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96.

TH HR & WK 1000kg © | I8 TH
el |8 W 72 km/h & THEAH a7 &
o W § | e F=E A T ¢ |
FR 0-2s F & Wl & | FR e F
1T S8 R el 1T HeT 99

(@) 100 N

(b) 1000 N

(¢) 10 kN

. (d) 100 kN

97.

98.

99,

T g ® fmw gomm 320 gR 1 W
e T 4TS ° HXh €9 A DS Il ©
ot saehr fafos o=t 62572 | 9% T
fa (wfe) F sfiT W gawy ?

(a) 625 m/s

(b) 2-0 m/s

(c) 50 m/s

(d) 40 m/s

T aTed foRm s § Ry o g
RRMF 2 m/s> R XY 10s T Ay
AT § | I8 3qG 91G AT &b STl
® | 98 I6* 91 [ I 10s F forg
i N AR 42m/s2® w A afy
Far & 3R R & formr srem & an
ST ® | Aed & o smfe fag &
e foeamas gam @

(a) 100 m

(b) 200 m

(c) 300 m

(d) 400 m

senfie wify & dag &, freafafeg &
Y -7 F9T T © ?
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100.

101.

(2) 9¥E GO 7 QIO & AfTER
forar

(b) IRE TEHEET A HfEwa <
(et @) w1 R
feran

(©) N 9 ¥ FAHER ¥ w9 o
S FET Ueh THRY 99§ TS Ve
9 # wea famr W wwR@mr #
yferenfora wei=t &t ot oM o)
HehdT AT

(d) #= dfeed ¥ @7 N ayfedt &

- icsaRur i qaEAtE @it

fafeyr wra # weeht Fem e

AT fohaa Y, o 1856 7 IaameR

wRH femar a2

(a) @™ TE fergen

(b) STHATATA =TS

(c) ST TRIATS

(d) €. T, TR

AT & HINE YFEA & Hay H

Freafafea st w faar fifio .

1. EST |, 1948 ¥, HINTE ATHR W)
Widl & QRieT 1 aeh fear o

2. Gfqu™ a9 3 W WRa & dfgam
¥ e forw s <t Rrerfar

IUYTH H A HH-91 /-8 F9 el
B/%?

(a) Fael 1

(b) e 2

() 13K 23t

(d T 1,782



96.

7.

98.

99.

A car weighs 1000 kg. It is moving
with a uniform velocity of 72 km/h
towards a straight road. The driver
suddenly presses the brakes. The car
stops in 0-2s. The retarding force
applied on the car to stop it is

(@ 100N
(b) 1000 N
(c) 10 kN
(d) 100 kN
There is a ball of mass 320 g. It has
625 J potential energy when released

freely from a height. The speed with
which it will hit the ground is

(@) 62:5 m/s
(b) 2-0 m/s
© 50 m/s
(d) 40 m/s

Starting from rest a vehicle accelerates
at the rate of 2 m/s? towards east for
10s. It then stops suddenly. It then
accelerates again at a rate of 4\2 m/s?
for next 10 s towards south and then
again comes to rest. The net displace-
ment of the vehicle from the starting
point is

(a) 100 m
(b) 200 m
(c) 300 m
(d) 400 m
Which one of the following - state-

ments about the Industrial Revolution
is correct ?

27

100.

101.

(a) Thomas Savery invented astrolabe

(b) Thomas Newcomen invented

chemical dyes

James Watt’s invention converted
the steam engine from being a
mere pump into one which would
provide energy to power machines
in factories

©

Mathew Boulton discovered the
technique of refining gold of -
- impurities

(d)

The first cotton mill in British India
which began production in 1856 was
set up by

(a) Ghanshyam Das Birla

(b) Jamnalal Bajaj

(c) Ambalal Sarabhai

(d) C. N. Davar

Consider the following statements

about the Linguistic Reorganization of
the States :

1. Gandhiji, in 1948, had argued for
the reorganization of provinces
on a linguistic basis

2. The Constituent Assembly recom-
mended it to be incorporated in
the Constitution of India

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SURN-A-GAT



102.

103.

104.

105.

HeledT et Ht g wE ¥ IRa S
|, TSITEER ¥ aiferrg # wei
& el o e W W g foram 2

(a) Toeaeaet & FrRaEa
(b) TSGR | FRTEAGH

(c) TR d¢ R foefrmeht
(Brfemaett) @ Jereaw

(d) 3= ¥ IR

= foden w9 WEE ke &
Fta geat qRT-gF el we fem ?
(a) TG

(b) AT

(c) TTETR

(d) TrEHIS

HFH (Maize) B WRT & foreen TR
«Ear ™ ?

(a) smfker Ik S

(b) 3ThIaT 3R |

(c) wig 3R &4

(d) geirer 3R seett
feaedt @ sk Ahmi (), = #
7 ¥ fm g % fafofee gt &

¥ /AR T e g
?/% 7

1. SSf &

2. e @ — IR darer Soft
WAl — e Ao
4. T A — FRHRA F0N
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= fom U Fe @ A R SR g
(a) *aT 2

(b 4

(c) ¥ae 13K 2

(d) 1,2 3K 3

106. ¥R H FAW 4Tl wel For (AH

Hieq wizd) & ded ¥ Frafofaa # 3

HT-IT FIT TEL TET § ?

(2) FIE A Helt T w [ A
el ST §

(b) ¥ =9 T gROr wKA &

(c) S <1 WK WP H B @

(d) 37 g A g g &9 BT ©
#R wfy =8 =JuE yER

W 3R afemt SIS S et §
107. g1 [ &t gt 11 & gafera i sk
il % A Ry T g o
E@Wﬂﬁ"‘{:

gl 1 gl 1

(wrerferea (T7)

=)

A. BT 1. IETES WY

B. el 2. FEH

C. wfveft 3. Brqa

D. TG 4. TS
e :

A K SC. D

(B 4 %iaga g

My 4 2-23

hlisdiid i 4

OB e



102.

103.

104.

105.

Inspired by the Dandi March by
Mahatma Gandhi, in Tamilnadu,
C Rajagopalachari led a salt march
from

(a) Tirunelveli to Nagercoil
(b) Kanchipuram to Mahabalipuram

(c) Trichinopoly to Vedaranniyam on
Tanjore coast

(d) Chennai to Vellore

Acharya Vinoba Bhave received the
first donation of land under the
Bhoodan Movement at

(a) Ramgarh

(b) Garhwa

(c) Hyderabad

(d) Pochampally

Maize (makka) was introduced into
India via

(2) America and England

(b) Africa and Spain

(c) France and Russia

(d) Portugal and Italy

Which of the following pairs of
Himalayan Passes and the Ranges in
which they are located is/are correctly
matched ?

1. Zoji La ——  Great
Himalayas

2. Banihal Pass ——  Pir Panjal
Range

3. Photu La ——  Ladakh
Range

4. Khardung La ——  Karakoram
Range

106.

107.

Select the answer using the code given
below :

(a) 2 only

(b) 4

(c) 1 and 2 only

(d 1,2and 3

Which one among the following state-

ments with reference to the black
cotton soils of India is NOT correct ?

(a) The black cotton soils are also
called ‘Regur’

(b) They are highly moisture retentive
(c) They are rich in lime

(d) These soils have less clay factor
and hence can support a wide
variety of crops and vegetables

Match List I with List II and select the
correct answer using the code given
below the Lists :

Tl

List I
(Hydroelectric (State)
Power Plant)
A. Doyang 1. Arunachal
| Pradesh
B. Gomuti
G 2. Assam
C. Kapili 3. Tripiivk
D. Ranganadi 4. Nagaland
Code :
A B C D
(a) ¢ 3 ¢, 1
) T Sy 3 1
{3 S | 2 3 B
@ 1 3 2 4
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108. = I & =t 11 & g $iftg ok

Fw for T g @ WM W EE SW
fva -
il = Il
(Swrwfeasia (2%)
THATA)
AT 1. =
B. faeft-foeft 2. frefidia
C. 9mEat (Sman) 3. srteeforan
D. TT5EA 4. gUEY
%< :
X B0 D
) a2 .
@) T 03
g e i et |
My 4 oy 2 4

109, Ry 7@ o7 & Rt ¥ P

?Fﬁﬁ'QT'ﬁFﬂ?'éﬁﬁ?Q:

1. A QN Sg fore & & et
™ AN G| % AW ¥ ST
RINIA

2. 9Ag QI QA AG W OTH
IFHE IR &

3. 50w f&y 7€ o f w@ =
WS TG ©

T fSg T g @ wEn SR g
(a) Faet 2
(b) e 3
() 13K 2
(d) 23K 3
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110. frafafes & @ ==-ar, s 3k

111.

112.

113.

FATART A QAT HT ISRV § ?
(@) s

(b) TSRS

(c) = (Gneissoid)

(d) ¥aT3C

freaffa d @ - wdi & 2

(a) UTRIE WHEG: SeRfe H
T ST §

(b) YOI & T 20% TR
CEIl

(c) THeH (FEH) S & gemahe
BT R

(d) ‘FEEG (sedimentary)’ W& AfeA
g hieied (kelimentum) ¥ o
™ ®

frafafeas & ¥ W@t wiFn
TS AT FH WA TE & ?
(a) faerm=

ot oA & T i goreET R
iftreraw wear feraet B et © ?

(@) 2

114.

() 4
(© 8
) 16

T 9 v amm R afean aae
qurfar § 7
(a) 299 K
(b) 277K
(c) 285K
(@ 373K



108. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List IT
(Tropical (Country)
Cyclone)
A. Hurricanes 1. China
B. Willy Willy 2. Philippines
C. Baguio 3. Australia
D. Typhoons 4. USA
Code :
Al Gl D

S SRS e |

()1 1-27°v3 4

v SR e G 1

). -1 324

109. Consider the following facts of the

rivers of the Indus system :

1. The Satluyj originates in Tibet
where it is known as Langchen
Khambab

2. The Satlyj is a classic example of
an antecedent river

3. The Jhelum is the largest tributary
of the Indus System

Select the answer using the code given
below : :

(a) 2 only
(b) 3 only
(c) 1and 2
(d 2and 3

31

110.

111.

112.

13

114.

Which one of the following is an
example of both an igneous as well as
a metamorphic rock ?

(a) Gabbro
(b) Geyserite
(c) Gneissoid
(d) Granite

Which one of the following is correct ?

(@)

Pyroxene is commonly found in
meteorites

Amphiboles form about 20% of
the Earth’s crust

Quartz is soluble in water

The word ‘sedimentary’ is derived
from the Latin word kelimentum

(b)

©
(d)

Which one among the folloWg
processes is NOT part of chemical
weathering ?

(a) Solution
(b) Hydration
(c) Reduction
(d) Thawing

What is the maximum number of
electrons that can occupy the first shell
of an atom ?

(@) 2
(b) 4
) 8
) 16

At which temperature does liquid
water show maximum density ?

() 299 K
(b) 277 K
() 285K
@ 373K
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Freafafaa # ¥ foreht gaioear 32 2
(2) Fre

(b) IATFATA

(c) TTEgISA

(d) wfsam

freafafea & @ ==-mn, afwdE=o
AfHfsraT 1 T e ® ?

(a) TS T SHAT

(b) S/ | T () T T

(c) ?-ﬁ%tﬂ'vm?-mm

(d) UG T JAAT (F)

fraffee § ¥ w-w Ik,
ATEEISH & AT § ?

(a) ER-BIEhe

(b) Trefimm wehe

(c) wifex <

(d) Fie

fafafes & ¥ sw-w @,
wgfafem (Al (SRAT-wETS : 13,
TANH-aET : 27) & fow wgt 7@ ® 7
(@ Al ¥ frmm o=l f gen
13%

(b) Al# foemm Wiet & d@ear 138
(c) Al¥ fommm —giAt &t dear 148
(d) Al garSEar 2@

TR & qifcass gare T § ?
(a) Fre AR ErEFIH

(b) FEA SR AT

(c) g e

) ug fafoe
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120.

121.

122.

123.

frafafes & & sF-w et
aRada &1 IgTeRw § ?

(2) FR FH HeaqTaq

(b) 5% &1 forerern

(c) @e H T & T BT

(d) NaOH 3R HCl= fafma g

feafafes & @ @=-+f, 25D 3k
20D &@HdT 9/ WE & EdeE
(Fifremer) &t we wrea g R ?

(@ +0-5m

(b) -05m

(c) +20m

(d -20m

HRA # AC & WRel mgfef arr foham
TS A feum sgedt wdt @ ?

(@) 9IS 50sH :

(b) TAF o5 s 3

(c) 9% 100sH

d) TF o5 s 7

& @ (iw) e gemm 2.0kg
?, G0 afos qHae wae ) e
2 | 9 T ues fadw & w) st B
T 10m/s B 1 T8 20m A GO T
A & A form smEm # amar §)
Freafafea & ¥ oo 5o &1 gl =0
B ?

(a 10N

(b) 20N

‘(c) 40N

d 50N
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116.
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118.

119.

Which one among the following has
valency of 3 ?

(a) Carbon
(b) Oxygen
(c) Nitrogen
(d) Sodium

Which one among the following is an
example of oxidation reaction ?

(a) Freezing of water

(b) Dissolving sugar in water
(¢) Rusting of iron

(d) Boiling of petrol

Which one among the following
fertilizers is a source of nitrogen ?

(a) Superphosphate
(b) Potassium sulfate
(c) Bone meal

(d) Urea

For Aluminium (Al) (atomic number :
13, mass number:27), which one
among the following statements is
NOT correct ?

(2) Number of electrons present in Al
is 13

(b) Number of protons present in Al
is 13

(c) Number of neutrons present in Al
is 14

(d) The valency of Al is 2

The elemental composition of diamond
1s

(a) Carbon and Hydrogen
(b) Carbon and Oxygen
(c) Pure Carbon

(d) Pure Silicon
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©

Which one among the following is an
example of chemical change ?

(a) Sublimation of camphor

(b) Melting of ice

(c) Heating of an iron rod

(d) Mixing of NaOH and HCl
Which one among the following is the

correct focal length of a combination
of lenses of power 2-5 D and —2-0 D ?

(@)
(b)

+0:5m
-05m
+2:0m

d) -20m

The AC mains domestic supply current
in India changes direction in every

(a) 50s
(b
(©)
(d

1
35 S
100 s
1
100 S

A block of mass 2-0 kg slides on a
rough horizontal plane surface. Let the
speed of the block at a particular
instant is 10 m/s. It comes to rest after
travelling a distance of 20 m. Which
one of the following could be the
magnitude of the frictional force ?

(@ 10N
(b) 20 N
() 40N
(d 50N
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124. 9 9 ferfat § v e 5o fafea

FEAT 30T 7Y @ R
1. 99 & W g0 fiem # o6 R
W ®
2. T& QA SO A 9of 99T @l §

3. GF Wl ¥ Uk 41 f vy W
s ?

4. TF F9 FHh H 3 2N & fore A
R Big foar wmar @

S A @ e Ry #, e oW
it o @) B § 2

(a) ¥ 1
(b) e 4

(c) ¥as 13K 4
@ 1,233

125. 49 fen = fier w E=mER W

FEAMe q &@ P 3R Q & R =
EQTR‘IT%

A el & gay # Frafafes F @
-9 99 Ge § ?

(2) S P o & FHRU @M ¢ AR
I Q T &F FHROT WIET B
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126.

127.

128.

(b) Vel & P, 9 Q & Afds e R,
qr whEeER & fy uE S s
et B |

(c) R G & a1E, & P TH S
A1 WA §, et 59 Q F afg
=it B

(d) R G & 9%, 5« P A g
Bl ®, safs s Q¥ ofy ot @

oo TR & s & <@ F FER 3
fradfl IRA T R B Y ?

(a) WEE qo

(b) WEN dehegeR

ORERES]

(d) it aeaw

A Vg 9 foredt T 1 aviR = gt
# foran : ‘mer @e, TRT T Sk IR
131, FT A, T F IR | I &
g & | 9 fow w fewedt & & o
H ygaTu

(a) FOIE [T

(b) T W™

(c) ¥RM@ II

(@ IT|AI

WRA & wfaam 6t fora sesh ¥, <o
ufad® ¥ R | frdar & s §
Iqay femam war ® 2
(a) &t srgEst
(b) TEe Srgsh
(c) ¥aREHT gt
(d) B3 FTE



124. Given below are the four cases in
which certain heat transfer is taking
place :

1. Ice is melting in a glass full of
water

2. Water is boiling in an open
container

3. A metal rod is heated in a furnace

4. A cup of coffee is allowed to cool
on a table

In which of the above cases, the
Newton’s Law of Cooling is appli-

cable ?
(a) 1 only
(b) 4 only
(c) 1 and 4 only
(d 1,2 and 3
125. The figure given below shows the

direction of the two forces P and Q
acting on a skydiver :

Which one among the following state-
ments is correct aboqt the two forces ?

(a) Force P is caused by the gravity
and force Q is caused by the
friction
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(b) When the force P is bigger than
the force Q, the speed of the
skydiver remains the same

©

After the parachute opens, force P
remains the same while force Q
increases

(d)

After the parachute opens, force P
decreases while force Q increases

Vijayanagara rulers claimed that they
were ruling on behalf of

(a) Lord Murugan

(b) Lord Venkateshwara

(c) Shri Virupaksha

(d) Shri Vallabha

Domingo Paes describes a king in
these words : ‘Of medium height, and
of fair complexion and good figure,
rather fat than thin; he has on his face

signs of smallpox’. Identify the king
from the options given below.

(a) Krishnadeva Raya

(b) Ram Raya

(c) Devaraya II

(d) Devaraya I

In which Schedule of the Constitution
of India, provisions as to disquali-

fication on grounds of defection are
given ?

(a) Ninth Schedule
(b) Tenth Schedule
(c) Eleventh Schedule
(d) Sixth Schedule
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129. Frafafes w9@t = R fifte .

1. ¥Rd & WEEER! & 98 d
e f6 98 wRa weR @ Rl
et W@ fawat w wemw ¥ R
ot weg & W s wd=t @
e @R S WRA & UEafa SaE
TwI-gwg ) felm R

2. ARA @ aififer SRe 3 &
fohas fofyr srftedt Sar 2, <t
ARG & WeHEaR! f gerdr
W ¢, IR WRa F w AN
il s gudht (arfafes
TR ht) FEEAT FaQ ©

S9gH # ¥ IH-1 /-] F99 w8
R/R?

(a) ¥ 1

(b) ¥ 2

(© 13K 23t

@ TN LI 2

130. Frafafea # & e oftfy & doe &

I e F Haed WE BN § ?

1. & war wfufy

2. wThes wfifa

3. TRl SushAT deel afifa

A fo e e 1w W 9w g
(@) 13K 2

(b) 13K 3

(c) %= 2

(d) ¥« 3
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131.

132.

133.

g Tt aifte a=a a7, o9 aW &
g Hifa uftrat et € et @ frag
g & e foedt Ry & g @
Ry & famr g7 fatas =
ot ® | g Tooe gl s @ 2

@@ 12f
®) 21f=
(€ 14fe
(@ 30feA
ARA & GaW & A9 19(1) ¥ day
A faffm dy - ad ® 2
1. 39 F9°0% & A @H-AER
sircafees gl €
2. 30 =G & A @ - AR

F WA A R gfrge feaw
aftRife femar s gear @

A few 1Y e 1 AW W IR g
(a) ¥4 1

(b) e 2

() 13K 23T

d T 1L,T2
Frafafaa & & ==-a1, 1954 % wra
IR = g gEareia ‘T’ qusid
¥ fafea i frgiat @ wmr wdfi & 2
(a) TER SATHIHEAT

(b) TER HEwET

() wifergf we-sifera

(d) wiepfes weam



129. Consider the following statements :

1. The duties of the Attorney General
of India are to give advice to the
Government of India upon such
legal matters, and to perform such
other duties of a legal character, as
may from time to time be referred
to or assigned to him by the

President of India

2. The Solicitor General of India is
the secondary Law Officer of the
country, who assists the Attorney
General, and is himself assisted
by several Additional Solicitor

Generals of India

Which of the statements given above

is/are correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

130.

1. Public Accounts Committee

2. Estimates Committee

3. Committee on Public Under-

takings

Select the answer using the code given

below :

(@ 1and2
(b) 1 and 3
(c) 2 only
(d) 3 only

Which of the following Committees
does NOT consist of Members from
the Upper House of the Parliament ?
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In the passing of a Money Bill, the

Rajya Sabha has limited powers in that
it shall return the Bill, with or without
any recommendation, within the
stipulated time of

(a) 12 days
(b) 21 days
(c) 14 days
(d) 30 days
Which of the following statements

with regard to Article 19(1) of the
Constitution of India is/are correct ?

1. Freedoms under this Article are
not absolute

2. Reasonable restrictions can be
imposed- on the exercise of
freedoms under this Article

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following is NOT a
part of the five principles enshrined in

the ‘Panchsheel’ agreement signed by
India and China in 1954 ?

(a) Mutual non-aggression
(b) Mutual non-interference
(c) Peaceful coexistence

(d) Cultural cooperation
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134. TEHAT A weehoran wwen ¥ fR 137, frafofea # @ ke o ) sk

WA AT Y G T <y sl & 2 Tt gt /wfeat Sa-dt 8 /€ 2
. 1. 99K
Uele geame
i 2. 9f@ErR
(b) EEAN AT 3. R
(c) wfma saem s 4. FTSftT
: = fou g e w1 v R 9w g
(@ WA TS Qe () 9 1
135. sifterifora wwre waffies =gt 2T € 2 ) 1483
(c) 23K 4
(a) e Y (Rgeq 39) w () ¥ 4
(b) FR @M 3R FH @ W) 138. frafafeaa # ¥ A9-H wems ARt
R e TR Afedl & @9 we ¥ gafera € 2
HETAH gt
(d) WS Med & 45 faht sy w— L)
1. waT Fu
136. 7Ra & fe=afafea & & fem o 9, 5w G
T oo et el € 2 3, Ao rerdd
1. fer 4. v HETGT
S A o g e 1 W R S g
(@ 13K 2
3. AR ®) 23K 3
4. TSI (©) 19K 3
' (d 33K 4
= fow Y e 1 v W 9w g
139. frforfaa # ¥ sl9-ar, wrRa § N
(a) 13K 2 e ¥ wate | # g S 7
(b) 13K 3 (a) Hfcaaw
(b) Hiehe
(c) 23R 3 ©
@) 23K 4 (d) rEgrSE
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Freedom Fighter Kanaklata Barua
sacrificed her life while participating in

(a) Rowlatt Satyagraha
(b) Non-Cooperation Movement
(c) Civil Disobedience Movement

(d) Quit India Movement

Where is the Coriolis Effect the -

largest ?
(@)
(b)

At the Equator

At the Tropic of Capricorn and
Tropic of Cancer
(c) At the North Pole

(d) At 45 degree latitude in each

hemisphere

In which among the following states
in India, the Sun rays are never
perpendicular ?

1. Bihar

2. Chhattisgarh
3. Manipur

4. Rajasthan

Select the answer using the code given
below :

(@ 1 and 2
(b) 1 and 3
(c) 2 and 3

(d) 2 and 4

39

13%:
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139.

Which of the following is/are east
flowing rivers in India ?

1. Palar

2. Periyar
3. Pennar
4. Kalinadi

Select the answer using the code given
below :

(a) 1 only

(b) 1and3

(c) 2and 4

(d) 4 only

Which of the following tributaries

is/are correctly matched with the
Deccan Rivers ?

Tributary River
1. Bhavani Krishna
2. Kabini Kaveri
3. Manjra Godavari
4. Bhima Mahanadi

Select the answer using the code given
below :

(@) 1and2
(b) 2 and 3
(c) 1and 3
(d) 3 and 4

Which one of the following is found
in appreciable amount in Laterite soil
in India ?

(a) Calcium

(b) Phosphate

(c) Potash

(d) Nitrogen
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140. SR & & way A Frafofea a1

141.

142.

143.

Wﬁ?ﬂ{iﬁlﬁm

1. 98 foss@ &, wmelR e &
frere ¥ frenerdt @

2. 98 M9 9RAT & 9§ “U” |11
ot ® ¥R WRa # AerEss ()
& HTEH | WAy SRl ©

SIw # ¥ SH-91 /-8 F9T To

R/%?

(a) ¥ 1

(b) a2

() 13K 23t

(d T 1,982

frafafea # @ fra gan we /e
H ARy A w@d ¥ Ued A (Not
me, but you)" %7

(a) T gar wufheeT wdwe

(b) TG |1 AT (NSS)

(c) TS T e HrdsHH

(d) T FEATER AT (NDS)

“fherg @1 oW, e dWer AW
it fra@ gag & 7

(a) Qe 3fear

(b) Tire 3fear wrdswm

(c) AT FaT WRA

(d) @ g3F FEwA

Frafafaa et = faer ifv

1. Hiffe A e & feufes
e Aead # ‘@i A TR F
9 # ymfier foram mm &

2. JAEH! GRT ORI & TRAT Sl 3
TiEhfaeh eRIeX iy foram ar 8
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e Aead & ‘wifecy B i &
w9 # yfeer o @

S # A fraar/fean waw @@
R/8 7

ORI

(b 1

() 2

@ 3

anfea & wikdrg fyvm gra feafoRea
¥ ¥ o 2w & sfmm-wra qws
A Heled - 2023 (ASEAN-India
Millet Festival - 2023) Ao femam
T ?

(a) 9T

(b) ST

(c) wfdrn

(d) aTets

frrafafee w@t w® fer fifsg

1. 3EIER 2023 #, IO § WIH AR
& frma wRicaa w1 SgETeH
ferar

2. 9Rd #, dge # weeh WA

. TIEEST W Ad S Wl we
fears %

3,98 2023 § I@m 159 fo
(BRICS) firer awier it srememan
eféror srfter & A

4. 9 2023 # wRGs ¥ foafa wra
Fheq AT A W He femrd wE

g # 8 fham/fean @ow @@
/%7

(@ 1

®) 2

() 3

@ 4
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Consider the following statements
regarding River Brahmaputra :
1. It rises in Tibet, near Lake
Mansarovar
2. It takes a “U” turn near Namcha
Barwa and enters India through a
gorge
Which of the statements given above
is/are correct ?
(a) 1 only
(®) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

“Not me, but you” is the motto of
which one of the following youth
organizations/schemes ?
(a) Rashtriya Yuva
Karyakram
National Service Scheme (NSS)

National Young Leaders Pro-
gramme
National

(NDS)

Sashaktikaran

(b)
©

Scheme

d

Discipline

“Fitness ka dose, aadha ghanta roz”

campaign, is associated with
(a) Khelo India

(b) Fit India Programme

(c) Mera Yuva Bharat :
(d) Healthy Heart Programme

Consider the following statements :

1. Kozhikode has been included
in UNESCQO’s creative cities
network as the ‘City of Music’

2. Garba of Gujarat has been
declared by UNESCO as an
intangible cultural heritage

41
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3. Gwalior has been included in
UNESCOQO’s creative cities net-
work as the ‘City of Literature’

How many of the above statements
is/are correct ?

(a) None-
®) 1
(c) 2
@ 3

ASEAN-India Millet Festival-2023,
organized by Indian Mission to
ASEAN, was held in which one of
the following countries ?

(a) India

(b) Indonesia
(c) Malaysia
(d) Thailand

Consider the following statements :

1. First Indian Military Heritage
festival was inaugurated in Octo-
ber 2023 in Pune :

2. First Green Hydrogen Fuel Cell
Bus was flagged off in India in
Bangalore

3. South Africa chaired the 15th
BRICS Summit held in 2023

4. Viksit Bharat Sankalp Yatra was
flagged off in 2023 from
Jharkhand

How many of the above statements
is/are correct ?

(@ 1
(b) 2
© 3
@ 4
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146. 'SeI® (ULLAS) ST & day # (a) =uTe
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(b) ©F TH TS F G ol & 3. Afvas ol WRa ek w@ew
: : - 2023 & SRE @R FHA wA
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() Tl e Fdtaq aew © %Gqﬁ%fli d @ foam/fem woa 7@
/&7
148, Sadl, 2024 HuRa A ww fauea (@) R
R o, fes wrem | 98 @ 2w
T 20 Bre F Feh B F Fwiw b
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Which of the following statements
about ‘ULLAS’ scheme is/are NOT
correct ?

1. It’s a Centrally Sponsored scheme
which aims at securing childhood
for street children

2. It’s a scheme aligned with
National Education Policy-2020
which aims at empowering adults
aged 15 or above who could not
get due schooling

Select the answer using the code given
below :

(a) 1only
(b) 2 only -
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one of the following state-
ments is NOT correct about NATO ?

(a) It was formed out of the signing of
the Washington Treaty

Russia is not a member of this
organization

(b)

©

It derives its authority from the
UN Charter

Finland is its latest member

(d)

In January 2024, India has entered into
a bilateral agreement through which it
will provide grant assistance to a
country to construct a 20 feet Bailey
bridge. Identify the country.
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(a) Nepal
(b) Bangladesh
(c) Bhutan

(d) Myanmar

Which one among the following Joint
Military Exercises was NOT conducted
between India and USA ?

(a) Yudhabhyas
(b) Vajra Prahar
(c) Malabar

(d) Varuna

Consider the following statements :

1. India has secured 10th rank in
International Shipment category in
World Bank’s Logistics Perform-
ance Index Report-2023

2. Global Maritime India Summit-
2023 was held in Vishakhapatnam

3. ‘Maritime Amrit Kaal Vision
~ 2047’ was launched during Global
Maritime India Summit-2023

How many of the above statements

- 1s/are correct ?

(a) None
() 1
(c). 2

d 3
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